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Part A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four

words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best
comnletes the sentence. Then mark voor answer sheet.

76

77-

78-

79-

8-

84-

85-

86-

87

Alter ten hours of hard work, Tom did not look ———-———--- . %0 I let him go ahead and finish the
jobn
1) tired 2) tiring 3) 1o tire 4) to be tiring

The teacher,
unit in the book.

-em—emee- that some of the students had not gotten the point, moved on to the next

1) not realizing 2) did not realize 3)was not realized  4) she did not realize
The newly married couple could not decide --—----eeee—- to live with her parents or to rent an
apartment.

1) they had 2y who 3) whether 4) did they have
Fortunately, the final test was such an easy test —-—-——-—- got very good grades,

1) for most of the students 2) that most of the students

3) most of the students who 4) which most of the students

I felt a bit ashamed that I was not able to —--—-——-- the name of an old friend of mine when 1
happened to see him in the street one day.

1} inform 2) restate 3) recall 4) forbid

It was a very useful course, one in which we received information about every ———eeeeeee of the
job we were going to do.

1) aspect 2) scene 3) ability 4) result

The couple behind us kept --———=-azaax evervone by talking during the movie.

1) omitting 2) distracting 3) separating 4) preventing

She -—-- believes that her husband has not done anything wrong and that he is now in
prison for no good reason,

1) emotionally 2) necessarily 3) approprately 4) firmly

As the man is lazy and has no ——-————a—- of responsibility, he does not work to make money for
his family.

1) sense 2) basis 3) habit 4) amount

When Johann found out that he was beginning to —c-cccceceea. me, he changed the subject to
something less disturhing.

1) ignore 2) annoy 3) overcome 4) remove

When an earthquake occurs, deep internal forces cause movements of the earth's -

1) geology 2) planet 3) layer 4) crust

---------- fAowers sometimes look so much like natural ones that you can hardly tell the
difference.

1) Rural 2) Similar 3) Artificial 4) Fashionable

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide

which choice (1), (2), (3), or (4) best fits each space. Then mark vour answer sheet.

Africa’s population is growing very fast. By 2100, it will be home to 4.4 billion
people—four times its present population. The UN has wamed: "The continent
continues to (88) -——-——-ameee- under very rapid urban growth (89) -----eeeeemeee with
extreme urban poverty and many other social (90) -=——=mmemmememv,



59-

91-
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The continent began to take off in the second half of the twentieth century. with its
population increasing very quickly. Eastern and Central Africa. including countries such
as Kenya and the Congo, (91) -————-mmmmmmmmmn . Meanwhile, those in the south and
north—such as South Africa and Tunisia—saw less growth. This trend (92) —--—-- - to
continue in this century—but so far, population growth has not brought wealth with it.

1) arise 2) suffer 3) follow 4) operate
1) to go 2) 1t goes 3) by going 4) which goes
1) problems 2) events 3) slums 4) activities

1) had the highest population growth

2) with the highest population growth

3) they had the highest population growth

4) and the highest population growth to have

1) expects 2) expected 3) 1s expected 4) expecting

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

93-

94-

Passage 1:

There is a big difference between the amount of sleep vou can get by on and the amount
you need to function optimally. According to the National Institutes of Health, the
average adult sleeps less than seven hours per night. In today’s fast-paced society. six or
seven hours of sleep may sound pretty good. In reality, though. if you sleep
that long, vou are most probably not getting the sleep vou need. Just because you're able
to operate on six or seven hours of sleep doesn't mean vou wouldn't feel a lot better and
get more done if you spent an extra hour or two in bed.

While sleep requirements vary slightly from person to person, most healthy adults
need between 7 to 9 hours of sleep per night to function at their best. Children and
teenagers need even more. And despite the notion that our sleep needs decrease with
age. most older people still need at least 7 hours of sleep. Since older adults often have
trouble sleeping this long at night. daytime naps can help fill in the gap.

What is the main idea of the passage?

1) Differences in sleep patterns 2) Ways to improve our sleeping habits
3) The amount of sleep humans need 4) Reasons why we do not sleep enough
According to the passage, the appropriate number of hours of sleep for people -——-——-- ;

1) is on the rise in today’s fast-paced society

2) is something between 6 to 7 hours per day

3) depends on their daily function

4) is not exactly the same

What does the author mean by "that long" in paragraph 1?

1) As much sleep as required

2) Six or seven hours of sleep

3) Longer than seven hours of sleep per night

4) The length of time you actually sleep in real life
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97-

98-

1iM-

With which of the following statements is the author more likely to agree?

1) All people need daytime naps these days.

2) As people age. they tend to sleep longer hours.

3) Today's society is a fast-paced one because people cannot function optimally.
4) Children and teenagers in general need more than 7 to 9 hours of sleep per day.

Passage 2:

Roald Dahl was one of the most successful writers of children's books who ever lived.
He sold millions of books all over the world. He is so lamous there is even a Roald Dahl
Museum you can visit. Many of his books have been made into films and videos.

Roald Dahl was born in 1916 in Wales. His father was rich but he died when Roald
was very young. Roald's mother brought him up. He hated school and left school as
soon as he could. Roald went to Africa to seek his fortune. and he spent two vears
working for an oil company.

In 1939 Roald joined the Air Force as a pilot, but he had a bad crash in the desert.
His injuries made him limp for the rest of his life. After this Roald went to America
where he wrote a story about his adventures as a pilot. It was so good it was published
in & magazine.

Roald met and married Patricia Neal. They bought a house in England and had five
children. Between 1960 and 1965 three terrible things happened. Theo, one of his
children. was hit by a taxi in New York and was badly hurt. Luckily. he recovered.
However., Olivia, one of Roald's daughters, died of a rare illness. Soon after this. his
wife also had a serious illness. It took her two vears to get completely better, After these
two diflicult years, his days ol success linally arrived.

Which of the following best suwits the topic of the paragraph immediately following this passage?
1) A new chapter in Roald's life

2) The success that Roald's daughter had

3) How Roald helped his wile feel healthy again

4) The reason why Roald turmed to story writing

According to the passage, Roald thought he would be able to make much money when he ————,
1) started a museum

2) left Wales for Africa

3) began writing stories for children

4) went to a country in Africa to discover oil

Which of the following is TRUE about Roald?

1) Sad events happened in his life in the first half of the 1960s.

2) The airplane accident he had did not physically damage him.

3) He did not have any formal schooling because he disliked schools.

4) His stories somehow reflect the events that in fact happened in his lifetime,

The passage provides enough information to answer which of the following questions?

1) How old was Olivia when she died?

2) How long did Roald serve the Air Force as a pilot?

3) Why were Roald's books used as a source for filmmaking?

4) Where did Roald write a story about his adventures as a pilot?
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Teil A: Grammatik

T76- In welchem Tempus steht der Satz . Meine Schwester kaufte mir ein Geschenk*?

1) Perfekt 2) Priisens 3) Préiteritum 4) Plusquamperfekt
77-  Wie lautet der Akkusativ Plural von ,,der Kopf*?
1) die Kapte 2) der Kapfe 3) die Kopfen 4) des Kopfes

78-  Manchmal flisterten Petra und [se einander etwas ins Ohr und sagten zu Hans: ,Das
""""""""""" du nicht hiiren!™

1) willst 2) darfst 3) kannst 4) musstest
T9-  Peter saseesacaccaaa. {laufen) quer durch den grofien Raum und schaute in jede Vitrine.
1) lief 2) lHuft 3) lHufie 4) laufie
80- Das Paar hatte elf Kinder, von denen flinf starben, ~—-—-—-—-—- sie laufen gelernt hatten.
1)ehe 2) dass 3) sooft 4)ob
81- Er hat es satt, immer nur -—-—------— --- hiibseh --—-—ecmeeee- Gesicht zu zeigen.
1)eimne/-e 2)ein/ -er 3)ein/ -es 4) einen / -en
82-  Welche Priiposition steht nur mit Dativ?
1)in 2y auf 3) von 4) wegen
83- Esging ——-—-——-— , wie die Eltern mit den Kindern umgehen sollen,
1) davor 2) darum 3) daran 4) dariiber
84- Den Rest des Tages -———-—-—--— (verbringen) Jean in seinem kleinen Apartment.
1) verbringte 2) verbrachtet 3) verbringtete 4) verbrachte
85-  Was ist das Gegenteil von .nett” im Satz ,,Unser Nachbar ist ein netter Mann*?
1) einsam 2) fremd 3) reich 4) bise
Teil B: Vokabeln
86- Es ist nicht s==seecememeas -, bei jemandem zu sein, der dich fiir einen fiesen Verriiter hiilt.
1) laut 2) lustig 3) dunkel 4 deutlich
87-  Er rfiusperte sich. Riuspern brachte ihm manchmal seine --———-——— #uriick.
1) Liebe 2) Kriifte 3) Sachen 4) Stimme
88- Helmut war schon im Stall. Er wollte sich ein -—-—--nam- aussuchen.
1) Pferd 2) Zimmer 3) Kleid 4) Rezept
89-  An der Ladentiir war ein ——--—--—-—--—- . Darauf stand kein Name, nur: Sonntag geiffnet!
1) Foto 23 Tisch 3) Schild 4) Stock
M-  Lu mir sagt man, dass ich aws jeder Miicke einen —----—----- -- mache.

1) Affen 2 Hund 3) Hasen 4) Elefanten
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Teil C: Liickentext

Erginzen Sie den Text mit den richtigen Auswahlméglichkeiten!

Thomas Edison hat im (91) —=-=-------- seines Lebens etwa 1500 Erfindungen gemacht. Er
(92) —=--=-===--—-- den Grammofon, die Glithlampe und einen Filmprojektor. Er verbesserte
das Telefon, so dass Telefonieren auch tiber sehr (Y3 ) ======es==memam Strecken moglich wurde.
Dass Edison 50 (94) —------meeeue gewesen ist, kann nicht an einer guten Ausbildung gelegen
haben, (95 ) «=acmeeeeameeas er ging nur drei Monate lang zur Schule.

1) Falle 2) Laufe 3) Rahmen 4) Schatten

1) ertand 2) kaufie 3) suchte 4) entdeckte

1) reiche 2) diinne 3) weite 4) genaue

1) froh 2) schlau 3) verwirrt 4) dngstlich

1) also 2) auch Y doch 4) denn

Teil D: Leseverstehen

Text 1:

Der Eiffelturm wurde von Herm Eiffel entworfen. Das Fundament baute man aus Stein. Die
Bauzeit betrug etwa zwei Jahre. Der Turm war der Eingang fiir die Welausstellung von
1889, Mach der Ausstellung sollte der Turm eigentlich zerstért werden. Doch der Turm steht
immer noch und wird sicher noch lange das Wahrzeichen von Paris bleiben.

Als was wurde Eiffelturm zuerst benutzt? Als —-—--———--—- .

1) Wahrzeichen von Paris

2) Eingang zu einem Spielplatz

3) Ausgang fiir einen groflen Parkplatz

4) Eingang zu einer internationalen Messe

Aus welchem Material ist das Fundament des Eiffelturms? Aos ——————-

1) Stein 2) Beton 3) Sand 4) Eisen
Urspriinglich hatte man vor, den Turm -————-v "

1} als ein Denkmal 2zu benutzen 2} nach einer Weile abzureien

3) an einen Hindler zu verkaufen 4} in ein Restaurant umzuwandeln
Wann hat man den Eiffelturm gebaut?

1) Im Jahre 1891 2) Im 18. Jahrhundert

3) Im 19, Jahrhundert 4) Nach dem Ersten Weltkrieg

Wonach ist Eiffelturm benannt? Nach dem Namen seines --—--—------=-- ;

1) Entdeckers 2) Schipfers 3) Besitzers 4) Kéufers
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Partie A: Grammaire
Complétez les phrases suivantes en cochant la réponse correcte:

T6-  Angela vit -———— - pays —bas pourtant elle ne parle ni néerlandais ni allemand.
1)a 2)au 3)en 4) aux
77-  Je vous -————-- -~ plusieurs fois ce matin mais vous ne m'avez pas répondu.
1) téléphone 2) ai téléphoné
3) téléphonerai 4) avais téléphoné
78-  Ces disques sont magnifiques ———-——- —- sont & vendre?
1) quels 2) quelles 3) lesquels 4) lesquelles
79-  Vous avez vendu vos actions. Nous ne souhaitons pas vendre -—-—- car leur taux est irés bas,
1) notre 2) la notre 3) le notre 4) les notres
80- Quand Mexamen est terming, les etudiants —-—----e-—x la liste.
1) signent 2) signeront 3) ont signé 4) avaient signé
81-  La traduction —---—-—-—-—- je suis ficre est celle des Misérables,
1) dont 2) que 3) qui 4) ol
82 - 1l est nécessaire que Vous -------——--- plus d’exercices physiques.
1) faites 2) lassiez 3) ferrez 4) faisiez
83-  Nous nous dirigions —---—--—-—-—- le métro quand il a commeneé d pleuvoir,
1) vers 2) pour 3) entre 4) dans

Partie B: Vocabulaire:
Complétez les phrases suivantes en cochant la réponse correcte:

84- Elle s’est cassé la jambe en faisant du ski. Elle a ~—----——-—- de la jambe.

1} un plitre 2) une pigure

3) une fracture 4) un pansement
85- Comme Elodie est une adolescente dgée de 16 ans: elle a des -—----——-- -

1) plaies 2) cemes 3) boutons 4) blessures
86- La route était glissante ¢f la voiture a —-—-——-—- un arbre,

1) heurté 2) touché 3) tapé 4) frappé
87-  Quand Martin parle, tout le monde doit I'écouter: il se eroif --—-—-——-— aux autres,

1 ) mesuré 2} supérieur 3) arrogant 4) prétentieux
88- Pour se débarrasser de sa dépression, elle a décidé de consulter un ----———-—--- .

1) oculiste 2) gynécologue

3) psychologue 4) dermatologue
89-  Avant de visiter Copenhague, je vais acheter s——cae- pour profiter de mon voyage.

1) un guide 2)un recueil

3) un dictionnaire 4) une encyvclopédie

00- Son entreprise a de graves problémes économiques; en effet., il a perdu d'argent et il

1) fait des bénéficies 2) risque de faire faillite
3) a une bonne chiffre d"affaire 4) rachétera une autre entreprise

Partie C: Texte a Compléter:

-Vous ne quittez jamais la maison?

-5i ! Pour me promener (91) =-s-seemeneees le parc.
-C’est tout?
-Il ¥ a trois hectares; c’est assez pour me (92) ---—--m—mm- les jambes, n'est-ce pas?

Mais asseyez-vous, commissaire; cela m’amuse de vous voir ici en fraude.
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- Que voulez- vous dire?

-QJue mon frére fera une (93) ---——omem- en rentrant. [1 est plus terrible qu’une mere. Clest
lut (94) —-—-—m- veille sur moi et vous vous rendez compte qu’il prend son role au
serieux.

-Je croyais que c¢’était vous qui (93) ~—----—-—-- étre enfermée par crainte de bandits.

1)en 2) vers 3)a coté 4) dans

1) frotter 2} bouger 3) débarrasser 4) dégourdir

1) téte 2) étrange téte 3)drdle de téte 4) marrante téte

1) ot 2)qui 3) que 4) dont

1) vouliez 2) voudriez 3) voudrez 4) voulez

Partie D: Compréhension de Texte:
Lisez le texte suivant et répondez aux questions:

Le port du voile, en tant que signe religicux, n'est interdit en France qu’au sein des
établissements scolaires.

Il existe en France une seule loi régissant le port de signes religieux: elle stipule que « le
port de signes ou tenues par lesquels les éléves manilestent une appartenance religieuse est
interdit » uniquement dans les établissements scolaires.

Sont considérés comme un espace public les voies publiques ainsi que les lieux ouverts
au public. En ce sens, une plage appartient toujours au domaine public; elle appartient 4 une
collectivité territoriale; typiquement une commune. Dans ce cas de figure, les
comportements sur la plage sont régis par les arrétés municipaux. Ainsi, en juillet dernier, la
mairie d'Ajaccio a adopté un arrété stipulant 'interdiction en dehors des plages et leurs
abords, de se trouver sur la voie publique seulement vétu d’une tenue de bain, le torse
dénudé. Ces arrétés municipaux sont contrélés par la préfecture qui peut en demander
I"'annulation. Ce qui est arrivé au maire de Wissous. Aprés avoir été saisi par le collectif
contre I'islamophobie en France, le tribunal a suspendu le réglement de la mairie interdisant
le port de signes religieux pendant ’opération estivale.

La loi appelée loi sur la burga, interdit en revanche de dissimuler son visage dans
I"espace public, notamment a 'aide d'un voile islamique intégral. Ici ce n'est pas le signe
religieux qui est mis en cause mais la dissimulation du visage qui en découle. Le « hijab »
ne rentre donc pas dans le champ d’application de cette mesure.

L objectif de ce texte est ---—---——- le lecteur.

1) d’informer 2) d’expliquer 3) de critiquer 4) d’argumenter
En France, il est interdit de manifester son appartenance religicuse dans ------——--— :
1) les parcs 2) les écoles

3) les lieux publics 4) I'administration

Le maire d”Ajaccio permet I"aceés 4 la plage sealement --—-—---—-- -

1) vétu de voile 2) en maillot de bain

3) habillé élégamment 4) en maillot islamique

Depuis 2010, Ia loi interdit --——-———-— .

1) le voile 2) le port des signes religieux

3) le hijab 4) le voile dissimulant le visage
Le maire de Wissous est -————- —.

1) jugé islamophobe 2) soutenu par son parti

3) suspendu de son emploi 4) critiqué par la collectivité
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Boidepure npaBnibHblii BApHAKHT 0TBETA:

B"ll!]'.lﬂ H MOIBOHHIA ==—=mmmemmmaee,

1) dpar 2) Opara 3) Opary 4) k Dpaty
FITY CTATHH HANHCAIH TPH --———--—- —

| ) Hkenep 2) MiDKeHepa 3 ) HHKEHEPBI 4) nisKeHepoOR
Buepa Ans Berperniach —-—---———--—- .

1) CO WKONBHBEIM JAPYTOM 2) IWKONBHOTO ApyTa

3) K IUKOJBHOMY JAPYTY 4) IWKONBHOMY APYTY

Koraa oHH —---—----—-- foMoii, OHH FOBOPHIN 00 IKCKYPCHH.

1) e3amTE 2) e3amnm 3) exams 4) exanu

Hl ckopo BepHYCh B ——-——-——- Tehe PeMHTL Npobaemy.

1) Oyay nomorars  2) noMoraro 3) nomory 4) nomoun
o 10 hoTorpadua? — Moeii cecTphi.

1) Yna 2) Kem 3} Yto 4) I'ne

Mue HYKHA e "

1) 9Ty cTaThio 2) 3Ta cTaTha 3) 00 70k cTaThe  4) 2TOMH CTATEH
N roro 4e10BeKa MHOT() ———m—-———- =y

1) netu 2) nersx 3) neram 4) nereii

Moii apyr - —==e—mmeeeeee :

1) HHIKEHEpOM 2) umkenepa 3) HHEKeHep 4) nuwenepy
Moii oTen JHOHT KYPHAIBL, —--------- --— CCTh ACCKAILI 0 AHTEPATYPE,

1) B KOTOPBIX 2) KoTopeie 3) koTopas 4) y koToporo
H maw MACATETH, ——— = Heaun nokasan ceon PaccKasibl.

1) koTOpYIO 2) 0 KoTopoii 3) ¢ KoToporo 4) KoTopoMmy
MeTpo CTPOAT TOABKQ --—---=-—m-- --- ropoaax.

1) kpyniHOTO 2) B KPYNHEIX 3) KpyTiHEIE 4) KpyTIHEI
Hama skekypens fbuia --——-——- —_—

1) Ha cybboTy 2) cybboTa 3) cvbbory 4) B cybboTy
OHH FOBOPH/IH O NBECE, —=-mmm-—mm=nan PYCCKHM ABTOPOM.

| ) Hanucanuoe 2) HanHCaHHBIM 3) HANHCAHHOH 4) nanHcanuyio
----------- roro eryaenta, Bukrop epasy yinaa ero.

1) Yeuner 2) VYeuneHHbIH 3) Veunennan 4) Veunermero

JdonoiuuTe TEKCT, HCNOAE3YA NOAX0IAMEE MO CMEICTY CT0BO-

Komnosurop Dasapa NPoBOIHI 0CEHE (91) ==mmmmmem=ams okono beprera. (92) ===—======-- Jcca
XOpOIIH ¢ WX rpHOHEM BoaayxoMm. Ho ocobenno xopomm (93) ----------m---- Jeca Koo
smopsa. B aux (94) ------memeee - HyM IPHOOS, (95) —emmmmmeeee NOCTOAHHO HAHOCHT TYMAH.
1) B neca 2) na nece 3) va necax 4) B necax

1) Bee 2) Beck 3) Beex 4) Bes

1) ropsmx 2) roproro 3) ropHbie 4) ropnas

1} CBILIHB 2) cablueH 3) cawnuna 4} cawinHo

1) Or mops 2) W3 mopa 3) M3-3a mopa 4) C mops
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I'lputm'mih'e TEKCT H BLINOVIHHTE 3A0AHHA NOCTE HEND:

(M3 neronucu)

B nero 6420 (912). M xun Oner, kusmxa g Kuepe, Mup umes co Beemu crpadamu. M
NPHILIA OCeHB, H BCoMHWL OJler KOHA CBOEr0, KOTOPOro KOTAa-To NOCTABMI KOPMHTL W
yAe He caauica Ha Hero, Mbo koraa-To cnpammsan oH BOIXBOB H KYIECHHKOB:

= Or vero mue ymepers? M ckazan emy kKyaecHMk oJuH: - Kous JnodHIL B e31HIIE Ha
HeMm, - ot Hero Tebe u ymepers! M sananu cnosa atd B ayviny Onery, v ckasan od: - Hakoraa
HE CHAY Ha HETO H HE YBHHEY €ro Oonewe. M nosenen KOPMHTE KOHA W HE BOOWTE €TI0 K
HEMY, M NMPOKMIT HECKOIBKO [IET, He BHIA €ro, noka xoaumn Ha rpexoe. Koraa npouuio
yerbipe jera, Ha naroe, npuen Oner or Haperpaia B Knep ¥ BCIIOMHWIL CBOETO KOHH, OT
KOTOPOro KOTAa-TO BONXBEI NPEACKa3any eMy cMepTs. M npuisan on crapeiilero koHwoxa
W ckazan: - ['ie Kous Moii, KOToporo npukasan s KopMuts 1 Oepeus? O e oTBETHI: - YiKe
ymep! Oer sacMenica 1 YKOPHIT TOr0 KyIeCHHKA, ckasas: - Henpasay ropopst BOIXBel, HO
BCE TO JO¥b: KOHb YMep, a A xus. M nosenen ocennars cede koua: - /la yBHIKY KOCTH ero.
H npuexan Wa mecTo, rie nexann €ro KOCTH TO/ble W Yepen rofieiif, ches ¢ Kous H,
[OCMESBUIHCEL, ckasan: - Ot cero au Hepena CMEpPTLE MHE ITFIHI-IH'I'J:? H CTYIIHII HOMQKY HAa
uepen. M Beinoasaa sMed U3 yepena U yxanuaa ero B vory. M ¢ toro pasbonenca u ymep.

Yro npeackazaa Onery kynecauk?

1) oI yMpeuIb OT YKYCa 3MCH 2) TBI YMpELUIb OT CBOETD KOHA

3) ol norubHels & 6ok 4) Tel MOrHOHEWL B DOKO C rpeKaMH
Yro nosenen Oner?

1) vOuTL KOHA 2) BoALIIE HE BOSRATh

3) yOuTs KyaecHHKa 4) KOPMHTB KOHA, HO HE BO/IMTh K HEMY
[Mouemy Ouer zacvenic H YKOPHI KylecHHKa?

1) Kok yie ymep 2) Oner nobexan Bo Beex OHTBAX
3) konb norud B O 4) KyIeCHHK caM YMEp OT YKYCa 3MCH
Yro zaxoren yeuaers Oaer?

1) poanoi nom 2) 3MEHHOE NIOTOBO

3) KOCTH KOHA 4) MOTHITY KYIECHHKA

Kak chbioch npeickasanme Kyiecnusa?

1) BAPYT HANATH BPATH H YOHITH KHAZA

2) M3 HOPBI BRINON3A 3MES M VHATWIA KHA3s

3) M3 uepena KOHA BBIMON3NA 3MEA H YIKATHAA KHA3A

4) M3 MOTHITBI KYJIECHHKA BRITION3NA 3MEA H YWKAITHIA KHA3A
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Capitolo A: Indicate la risposta corretta:

John ¢’ un ragazzo inglese che viene -——--—-- — Londra.

1)in 2)da 3) per 4) nella
Marco si sente stanco ¢ non ha -—----—-- - di studiare.

1) voglia 2) parola 3} libro 4} giornale
e giorno Gianni lavorava in un supermercato.

1) A 2)Di 3) Per 4) Per il
Clara ha abitato a Venezia -----—-—--- tredici anni.

1)in 2)da 3) per 4) con

Chi esercita professionalmente la medicina €' —--—m-memv A

1) dottore 2) cantante 3) medico 4) insegnante
L'ampio componimento narrativo in cui si tratta delle vicende di uno o piu” personaggi ¢’-——
1) storia 2) novella 3) commedia 4) romanzo
Antonio, conosci Maria ¢ Marta? 5§, ———-mmmm- - conosco bene,

1) le 21 3) eli 4) loro

E" importante che voi -—--——-—- a casa,

1) andano 2} andate 3) andatevi 4) andiate
Loro insistono che voi —————-—- la scatola.

1) spediate 2) spedite 3) spedino 4) spedano
Lei va ——---mmmmmeee lui finisca,

1) mentre 2) quando che 3) prima che 4) dopo che
Gianni, conosci qualeuno che —-——— il tedesco?

1) sa 2) sappi 3) sappiate 4) sappia
Erano le dieci ¢ il supermercato ---——-—--—--- ancora chiuso.

1) fui 2yera 3) fu 4)e

Chi ¢i ha regalato dei fiori? lo ho §

1) ve le-regalate 2) ve li-regalato 3) ve li-regalati 4) ce li-regalato
Preferisco andare via presto —--——-—-- che rimanere ¢ fare tardi

1) piu’ 2) poi 3) meno 4) piuttosto
Avrei studiato molto se non ——-———-——--- i libri a ascuola.

1 ) avessi lasciato 2) avrei lasciato 3) lascerei 4) lascio
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Capitolo B:Completate il testo seguente con le parole proposte:

91-
92-
93-
04-
95-

96-

98-

99-

100-

Anche quella mattina Mario camminava (91) —---------—-- passo sostenuto come se fosse in
ritardo per l'orario d'ufficio. Prima di (92) ----=---=--—-—- in pensione aveva sognato che il suo
rapporto con l'orologio si sarebbe (93) —==-==m-memeem- , a cominciare dalla sveglia del mattino.
Lo aveva pensato sistematicamente negli ultimi tre anni, quando alle cinque doveva (94) ----
---------- il braccio fuori dal calduccio delle coperte per (93) ===se=emeeeeeae 'odiata suoneria.
1)a 2)da 3) di 4) per

1) venire 2} andare 3) mettere 4) rimanere

1) visto 2) partito 3) rimasto 4) interrotto

1) dare 2) portare 3) allungare 4) prendere

1) guardare 2) fermare 3) mettere 4) prendere

Capitolo C: Leggete il testo e rispondete alle domande seguenti:

E il pit alto della Terra. Prende nome da un britannico, fondatore dell’ufficio
trigonometrico dell’India. Una spedizione inglese, nel 1921, accolse, perché usato alle falde
settentrionali del monte, il nome Chomo Lungma, che perd non ebbe fortuna. La prima
spedizione per raggiungere la vetta risale al 1921, quando un gruppo degli alpinisti inglesi
giunsero fino al Colle Nord (7007 m). Tre anni dopo un’altra spedizione, guidata dal
capitano E.F. Norton, pose a 8168 m un campo, dal quale Norton stesso riusci a raggiungere
quota 8500, mentre i suoi compagni Mallory e A.C.

[rvine partirono per tentare la scalata decisiva. Di loro non si ebbero pi notizie € mai si
¢ potuto appurare se avessero raggiunto la cima prima di morire.

Il racconto sta parlando di ——--—-———-.

1) Everest 2) Monte Bianco 3) Monte Denali 4) Kilimangiaro

Chi ha scoperto questo monte e’ -—---—--—- —

1) italiano 2) tedesco 3} inglese 4) olandese

Gli alpinisti che per la prima volta hanno tentato di raggiungere la vetta erano -——-——-- a
1) asiatici 2) europei 3) africani 4) americani
F.Morton riesce a giungere fino a ---—--——- -

1) 6800 m 2) 7007 m 3) 8168 m 4) 8500 m

I compagni di Norton -——-—--—-—- ¢

1) perdono la vita 2) ritornano al campo

3) ragginsero la vetta 4) non raggiunsero la vetta
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